

GRADE 5 – MODULE 4:  PARENT GUIDE

Multiplication and Division of Fractions and Decimal Fractions

Each day in class, we do practice sets. Attached are the answer keys to the Practice Sets from this module.  These answer keys can be used to refresh your child’s memory of work we did together in class and help you support your child with the math homework.  There is a footer at the end of each answer key that tells you the lesson number.  This lesson number corresponds with the lesson number on the homework sheets.  
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1. Draw tape diagram and a number line o solve. You may draw the model that makes the most sense to
You. Fillin the blanks that follow. Use the example to help you.
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2. Divide. Then multiply to check.
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3. For anart project Mrs. Willims s dividing construction paper into fourths. How many fourths can she.
make from 5 pleces of construction paper?

5
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4. Use the chart below to answer the following questions.

‘Donnie’s Diner Lunch Menu
Food Serving Size
Hamburger in
Picides. pickle.
Potato Chips i
Chocotate ik fam

. How manyhamrgers ca Do moke with 6 pounds ofhamburger mest?
i3 = 6x3 = 1R famburgers.

b. How many pickle servings can be made from a jar of 15 piciles?
1945 =15%x4 = &0 p\‘ckle servings

. How many servings of chocolate milk can he serve from a gallon of milk?
4 gallon= |6 cops 16 5 = lex2 = 32 cervings
0f choc. milke

5. 3 gallons of water fils} o the elephant’s pilat the z00. How much water does the pail hold?
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T, Toke
. 12 gallens.
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1. Draw a model or tape diagram to solve. Use the thought bubble to show your thinking. Write your
quotient in the blank. Use the example to help you.
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3. Tasha eats half her snack and gives the other half to her 2 best friends for them to share equally. What
portion of the whole snack does each friend get? Draw a picture to support your response.
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= [ fourth
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5. Mariano delivers newspapers. He always puts  of his weekly earnings in is savings account,then divides
the rest equally Into 3 piggy banks for spending at the snack shop, the arcade, and the subway.

2. What fracton o is carings does Mariano put nto eoch pigy bank?
I

| hurth+3 Toriano puky
ﬂlnlﬂlll = urth - 5 of hig
Sibuny 3fwelfths +3 )€Avm'r195 in
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1. Mrs. Siverstein bought 3 minl cakes for a birthday party. She cuts each cake into quarters, and plans to
serve each guest 1 quarter of a cake. How many guests can she serve with al her cakes? Draw 3 picture

e uapertyr . 4 o dele
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5. Faye has S pieces of ribbon each 1 yard long. She cuts each ribbon into sixths.

a. How many sikths will she have aftercutting all the ribbons?

1yard L
— 1<z =6
& sinths in Lyad.
30 Siths 1n & yards.
Foye will have 30 sixths after cm/ﬁ all the vibbons.
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2. Draw to show how 2 children can equally share 3 cookies. Write an equation and express your answer &

afraction. e M
332 = Lholves 2 = 3halves
-3 G
£3 ————
i+ [
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3. Carly and Gina read the following problem in their math class.

Carly and Gina solve the problem differently. Carly gives each child 2 whole cereal bars and then divides the

\
i Seven cereal bars were shared equally by 3 children. How much did each child receive?
\
\
remaining cereal bar between the 3 children. Gina divides all the cereal bars into thirds and shares the thirds

equally among the 3 children

a. lllustrate both girls’ solutions.
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b. Explain why they are both right.

Both airls are rv'a‘vrk _There are T bart shared "Bu‘l‘j \.:) 3
fu?\z- Thats T332,
Tege Looe Tk (hats whet Carly did)

T432214hinds +3 = Thhicds (Hhots whek Gane did)

1 COMMON | tosonz; et ractons s v n
M ESRMON | e i engage"’

R —
T S —— DI e et el St e e

ar




image82.png
NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 27 Prablem Set’ EEEE

6. A pasplchrs ld withter. f th wter b gaured aualy o2 goses.

& Whatiracton ofthgwotr 1 esch glss? +of %; Srg= 713

Fi2=legthiz
=2 Siktbenths 22
= | Sinkeenth

45 oF waler is in each,glass.

b. I each glass has 3 ounces of water in it, how many ounces of water were In the ful pitcher?
3oz X2=602.
\unit=& o2.
guats=8x6=48e2.

There were. 48 6. of water inFhe full pitcher.

1} ofthe remaining water s poursd ut fthe ptchertowatera s, how manycups fwater are

Tet I tho itcher?
3lEea = cups

—fos. 24202,
48oz. 46,: L P 23131
b ) =Fertie

Eﬁcmm‘ukhra.mkﬂ =%§ﬁ =-‘1g7'<*1l$:.
in-the. pifcher. st 434

[ SQMMON | i spcuramimstanoven engage™




image83.png
NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 28 Problem Set

Name HP,[@Y\ Date
1. Create and solve a division story problem about 5 meters of rope that is modeled by the tape diagram
below.
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L J
i
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2. Create and solve a story problem about% pound of almonds that is modeled by the tape diagram below.
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1. Divide. Rewrite each expression as a division sentence with a fraction divisor and fill in the blanks.

The first one is done for you.

L01=2+L=
Example: 2T0.1—2A10 20

01z e )
a.5.041_5¢’?=50

There are IQ tenths in 1 whole.

There are SO tenths in 5 wholes.

!
c 52+01 =52"TT6 =52
There are_ 80 _tenths in 5 wholes.

Thereare __ 2 _tenths in 2 tenths.

There are 52 tenthsin 5.2

There are _{00 _hundredths in 1 whole.

There are _S00 tenthsin5 wholes.

g 5.2+001 =$2%7¢’ﬁ::520

There are _S$00 hundredths in 5 wholes.

Thereare __ 20 hundredths in 2 tenths.

There are 520 hundredths in 5.2

2 COMMON
CORE

Lesson 29:
1 hundredth,
Nata: 100413

Connect division by a unit fraction to division by 1 tenth and

There are __10 _tenthsin 1 whole.

There are __20 __tenths in 2 wholes.

b. s+o.1=g—:-+°' =Ko

Thereare_ 10 _tenths in 1 whole.

There are g_Q tenths in 8 wholes.

.
4 87-01- 8715 5=87

There are & tenths in 8 wholes.

There are 7 tenths in 7 tenths.

There are 87 tenths in 8.7

£ §+001= 8% 755 = 800

There are 190 hundredths in 1 whole.

There are 00 hundredths in 8 wholes.
L.
h87+001=%T7% Too=870

There are 200 hundredths in 8 wholes.
There are 70 hundredths in 7 tenths.

There are_ 810 hundredths in 8.7
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1. Divide. Rewrite each expression as a division sentence with a fraction divisor and fill in the blanks.

The first one is done for you.

L01=2+L=
Example: 2T0.1—2A10 20

01z e )
a.5.041_5¢’?=50

There are IQ tenths in 1 whole.

There are SO tenths in 5 wholes.

!
c 52+01 =52"TT6 =52
There are_ 80 _tenths in 5 wholes.

Thereare __ 2 _tenths in 2 tenths.

There are 52 tenthsin 5.2

There are _{00 _hundredths in 1 whole.

There are _S00 tenthsin5 wholes.

g 5.2+001 =$2%7¢’ﬁ::520

There are _S$00 hundredths in 5 wholes.

Thereare __ 20 hundredths in 2 tenths.

There are 520 hundredths in 5.2

2 COMMON
CORE

Lesson 29:
1 hundredth,
Nata: 100413

Connect division by a unit fraction to division by 1 tenth and

There are __10 _tenthsin 1 whole.

There are __20 __tenths in 2 wholes.

b. s+o.1=g—:-+°' =Ko

Thereare_ 10 _tenths in 1 whole.

There are g_Q tenths in 8 wholes.

.
4 87-01- 8715 5=87

There are & tenths in 8 wholes.

There are 7 tenths in 7 tenths.

There are 87 tenths in 8.7

£ §+001= 8% 755 = 800

There are 190 hundredths in 1 whole.

There are 00 hundredths in 8 wholes.
L.
h87+001=%T7% Too=870

There are 200 hundredths in 8 wholes.
There are 70 hundredths in 7 tenths.

There are_ 810 hundredths in 8.7
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Divide.
a. 6:01 b. 18+0.1 c. 6+ 001
=675 =18 15 =6+ T
=40 =180 =600
d. 1.7+0.1 e. 31+001 f. 11+0.01
=175 =31 T = 1 To
=17 =3l00 = 1100
g 125+0.1 h. 3.74+0.01 i 12.5+001
z125 25 :_3.74":7% =126 Too
=250 =374 =)250

3. Yung buys $4.60 worth of bubble gum. Each piece of gum costs $0.10. How many pieces of bubble gum

does Yung buy? $'+ 60'— 0.10 = 460«--‘ '-46
Yuns bouﬂth 46 pieces of bubble Gum.

4. Cheryl solved a problem: 84 +0.01 = 8,400.
Jane said; “Your answer is wrong because when you divide, the quotient is always smaller than the whole
amount you start with, for example, 6 + 2 = 3, and 100 + 4 = 25.” Who's correct? Explain your thinking.

Cheryl solved “the problem currectly. Yhat Jane said is also

correet but not always Hrue ecpecially then dividing wit] s
Cheryl Can help J\nz wi?emﬁg ! shf.z, cz(‘iw hdedm‘

B4 1= gl . 8Y%100=0.84 ; g# ool 8400

5. The US Mint sells 2 pounds of American Eagle gold coinstoa coﬂector Each coin weighs one tenth of an
ounce. How many gold coins were sold to the collector?

2<0.1=20
20 qold ceing were SIS Fo +he collechor .

5 COMMON | tesson29: Connect division by a unit fraction to division by 1 tenth and

Pata: LLYELTEY
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1. Rewrite the division expression as a fraction and divide. The first two have been started for you

a. 2,7+0.3=§% b. 2.7+o.03=%
_27x10 _27x100
T03x10 " 0.03x100
.z 2o
3 3
=? =90
3.5 3.C
¢ 35+05-79¢,% d. 35+005= 0,08
_ 3.5X10 = 3.5 %100
“Tos X 0.08 X100
=25 ~ 38D
=g =

=70

. 42+07=
e 207 0-7

= _h2%R10
0.7 %10

=4z

5
=6

%2 oMz
— f. +0.07= —"’o' 07

- 042X 100
0.077 %100

42

=T

6

W

CORE Date:

COM MON | Lesson30:

Divide decimal dividends by non-unit decimal divisors.
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103409-)’0& N 108 0,09+ .08
g 108+05=—51 . 1.08+ 0. _————-0.09
= 10.3X10 _ LogXI00
0.9%10 = ~0.09 %100
9 /qg—
=12 =12
g 3'6+1'2=‘i'é‘ i 036+a12= 9_3_6_
h2 0.12
3,610 100
= =X0 _ 036X
1.2 X10 ,m
— 36 3
'z T2
=32 -
k. 17‘5+2'5=JZ%—‘ I 175—025:/;:-;?
_ 175X LIS X100
2.5 xlo 70,25 X0
. 178 !
S =%
=7 =7

2. 15+ 3=5. Explain why it is true that 1.5 + 0.3 and 0.15 + 0.03 have the same quotient.

They have. the Same. Quotient beuse T Can rewrite +hem in unit

forms o show) they are all equal +o 5.

IS
52325 — 15 wholes & 3wholes= < —> —3—;5 <

X 0328 —> IS Haths + 3deaths R A
0,15 +003 2S—>1S hundedths % 3 hndredths = § —> sk _is

B03K00 =3 =5
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3. Mr. Volok buys 2.4 kg of sugar for his bakery.

a. Ifhe pours 0.2 kg of sugar into separate bags, how many bags of sugar can he make?
2, l
2402 =t 24X0 24,
0.2 X0 Zz

1

He (an make 12 bags of Sugar.

b. If he pours 0.4 kg of sugar into separate bags, how many bags of sugar can he make?

oyl 2H 24xl0 _ 24
24502007 %0 T TR =6

He can make 6 ba(js of sugar.

4. Two wires, one 17.4 meters long and one 7.5 meters long were cut into pieces 0.3 meters long. How
many such pieces can be made from both wires?

T4 T4XO '7 _cg 3&54 3ﬁ?
l

Wire #1: \TY % 032753 = B6.3xi0 =

Wi #2: 7.5%03= 25 = I3X0_ TS ¢ ;?—g_ =i

" 23%0 -3
£B+25=283
83 pieces Can be made from hoth wires.

5. Mr. Smith has 15.6 pounds of oranges to pack for shipment. He can ship 2.4 Ibs of oranges in a large box
and 1.2 [bs in a small box. If he ships 5 large boxes, what is the maximum number of small boxes required

to ship the rest of the oranges? ‘
2.4 1S.6 NP 1.1
ls6hb < e -2 3.6%1.2=75
24fzy )2y oyl y | mon T 36k =360
— L2LRI0

Lame=? Small=7 =36

2

=3

3 small boxes are eQuired o ship +he restof the oranges.

Lesson 30: Divide decimal dividends by non-unit decimal divisors.
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3. Mr. Volok buys 2.4 kg of sugar for his bakery.

a. Ifhe pours 0.2 kg of sugar into separate bags, how many bags of sugar can he make?
2, l
2402 =t 24X0 24,
0.2 X0 Zz

1

He (an make 12 bags of Sugar.

b. If he pours 0.4 kg of sugar into separate bags, how many bags of sugar can he make?

oyl 2H 24xl0 _ 24
24502007 %0 T TR =6

He can make 6 ba(js of sugar.

4. Two wires, one 17.4 meters long and one 7.5 meters long were cut into pieces 0.3 meters long. How
many such pieces can be made from both wires?
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l

Wire #1: \TY % 032753 = B6.3xi0 =

Wi #2: 7.5%03= 25 = I3X0_ TS ¢ ;?—g_ =i

" 23%0 -3
£B+25=283
83 pieces Can be made from hoth wires.

5. Mr. Smith has 15.6 pounds of oranges to pack for shipment. He can ship 2.4 Ibs of oranges in a large box
and 1.2 [bs in a small box. If he ships 5 large boxes, what is the maximum number of small boxes required

to ship the rest of the oranges? ‘
2.4 1S.6 NP 1.1
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Lesson 30: Divide decimal dividends by non-unit decimal divisors.

I i COMMON Date: 10/20/13 engag’eny 4.6.12

+ CORE





image6.jpeg
NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 3 Problem Set

name _Meyer Date
1. Fillin the chart. The first one is done for you.
; Standard Algorithm
Division . Improper | Mixed
baprossion | UnitForms | bers | (Write your answer in whole numbers and
fractional units. Then check.)
1 Check
a[s 4x1%=1%+1%+1§+1§
20 fourths + 4 s e
a 544 2 e sait
=5 fourths 4 1 3
—4+1
=5
| &
2
L it
6 havesz2 | 3 2|3 2xlz =124\
b 3:2 2 1= -2 - z
? =3 halves T =2+
2 2+l
= 3
2
\F-1f
G
+ &
by 2afourths+4 | b l—'i . Yy ld= [N ESE
» =t = 6 fourths 4 2 = Yot
=Yz
=6
.l
L
23
A L egd
Ohlvas 3 2 Zl: 2x73:27+2%
5 = 2
542 H 2= e 4 Ly
£ = Shalves 2 | z
=z Ye|
=5
COMMON | tesson3: Day 2 Interpret a fraction as division. n
| et oo ans engage Y ssa0

P
[ — TR . e om0 e





image93.png
minimum




image94.jpeg
Y5 COMAMON CORE MATHIMATICS CURNICULUM T

name _Janine oate

1. Estimate, then divide. An example has been done foryou.

e i
e ¥
= :
=5 14
;

b 182508 [, Fgzg

2

003 £t
- 44z x o0 ol B 238
T 503 e ) i
42, v
3 —.
HEIy)
IS s engage™
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Y5 COMMON CORE MATHIMATICS CURRICULUM Lesson 31 Problem Set

3. Salve usng the standard algorthm. Use the thought bubble o show your thiking a5 you rename the
diisor 353 whale number
[+-462+05 I8¢

7 b 367004 79
Z

A
8045 e,
e 6 ol

oo ke
he dins”
o

4. The tota distance of a race s 189 k.
2. Hvolunters set up  water station every 0.7 ki, incluing gne at thefish e, how many satons

it et
! They will have

27 oater SrahAs

b, volunteerssetup st idstation every 0.k, nduding one a th finish e, how many sations
willtheyhave? |

asigs There

Nhe 21 $mse aid sian

5. Ina laboratory,  technicia combines asaltsoution conained n 27 test ubes. Each test tube contains
006 erof thesolaion. 1 he divides the total amount o test tobes that hold 0.3 L each, how many
test tubes wil he need?

4 : 5
27 L2 ez e
« hudndbs o3 ey T

N7 5 ey He will nced ¢

Tese Aabes.

o engage™ scs

17 SQUMON | s




image96.png
et e

It

it the xprsion cquven o “the o a0 2 s by 2

2 seped TN

Circl the expressonts) equivelent 028 dhides by the iference betwsen Zand £

ese(i-5) E-em

Filln the chart by weiting an cquivatent numerical expression.

5l s a3 the ference eteen 2 Lanc S

5 Theaerence betwaen  Lana o .

¢ | thnsottnesum o  ani 2 e

[ YT

(22+%)x3

Compare expressions 3(a) and 3(b. Without evaluating, identify the expression that s greater. Explain
how you know.

Expression o) is asuudrm om ez 2ppressio, 3(h).
QY-+ 5-F)

Beth aepressions howe e same diuvidemd.

Enpression (o) is divided indo 2 eamak pands,

2y pressionls) i divided trke Y eual palts.

Crpressivn(od must e Ao,
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5. Filln the chart by writing an equivalent expression in word form,

2 [Thee Lfourthe imes Hle sum of Te7s+d)
\.7% ond 3s.

b Qifforamea behween /2 ond w02
+6o Droduck o '/g ond 2 Yeathe.

¢ |Fowr Yhirds times rhe sum o€ (rs+xt
175 and 3B.

T [ Twe Oiided by The produck | ()

S8 2 and s

6. Compare expressions 5(a Jand 5(c). Without evaluating, identify the expression that s less. Explain how

voukiow: | Ymow that ex w—cs&'\'—*& [BSRTS

afan

expression (6. \n (o) Yha sum of \35

and ®ls 15wl plied by

o vumber less har

ove. \n (D Ra some sim s Mu.ldr“p\udbﬁ

& rumber o&_aaﬁtu “has oue .

7. Evaluate the following expressions.

2 (0-5)+1 =

<
]
[t
L
‘
)
u

| SGMMON | wns:
CORE |

ang.age o scing and conGison

clensd

L.
=4

L
\Z

. 3times as much as the
quotient of 2.4.and 0.6

3x(2.470.6)=
3x4=
12

engage™
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Farmer Green picked 20 carrots. He cooked % of them and then gave 5 to his rabbits. Write the expression that

tells how many carrots he had left.

2x30)-5

Expression:

b, Farmer Green picked 20 carrots. He cooked S of them and then gave 2 to his rabbits. Write the expression that
tells how many carrots the rabbis will get.

£x(30-5)

COMMON | teson3z:  ierpretand esuate umericlepressionsinccig he
CORE Iangusge ofscalngand rcto disin
Dute: e
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Name  Taparko oate.

1. M. Moy has e of e She dirutes w6 stadents i ber oo r0up,

2. How many ters of ice does eachstudent get?

3

Each student gets HL of juice

b, How many moreitersof icewil M. Hayes need,  she want 0 give ch of the 24 students i hee
s the same amountof e found i Par (17

X 24 26507 baL

J 15 Lo,
o s, Hayes wil need 15
=

wice needed
FPTREL CAE Fiaormel
2. Ll has 3.5 hours et nher workday 353 car mechanc Luia needs L of an hour t complet one ol
e
B ———

=7 bl hours
e ol e

She @ Gmp

. o an completc wocr spctons i e smeamount f e ks hr o compes v
hage, How g dcs a0 amte g ot pcion?

she cn Gmplere

R o

R s

© Howmanyingeconsnsne omste et o
3.5%F  There ore 2 fourts i 3.
T There are 2 btk 1 %

she o cmpere
JUEA
The fsr ob her

355 e we ke gy S
COMMON | monss s e s e
|1t friog bt engage™ e
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3. Carlobuys $14 40 worth o grapefuit. Esch rapefrut cost SO..

2. Howmany grapefit does Caro buy?
41440 & 3080

it 0

A

wd
=2

Cacbs bugs (g Gupebeait-

b, Atthe same sore, Kahi spends one.hird 35 much money on grapefrut 3 Calo, Howmany
arapefrut doesshe buy?

3
Koot beyS 6 grapehnsit:

4. Studies show that a typicalgant hummingbirdcan lap s wings once n 0.08 of a second,

. Wil iying for 7.2 seconds, how many times willa typica giant hummingbird ap s wings?

2008 12, o

Tiadbieks ot I+ con Hay it

s 120 Wnge Qo dimes in 72
% seeonks

i
o

b, Aruby-thoated hummingid can fla s wings 3 s oser thana giant hummingbi. How many
mes willa uby-throated hummingbid ap s wings i th same amount f time?
404 =300
it oo Clag vt wiys 30 Hmes v 72 secas,

[l SQUNON s cosncnton engage™
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5. Create astory cantextfor the following expression.

Ex(s20-52201

Cheis had $20

He bough+ & beg o
of the rest on note ks,
on patebodles 2

b pens for 3320 then spert
How much didh cwes spend

6. Create  story context about painting a wal o the following tape diagram.

L ied the botem half of
= ‘WS“‘LL{,M wall~ blig, ~ v#hen
- onted 4 ob whe blue wal

> o, e Bracem of +he wal
s red ?

engage™
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2. Aprincipal evenly distributes 6 reams of copy paper to 8 fifth grade teachers.
2. How many reams of paper does each fifth grade teacher receive? Explain how you know using
pictures, words and/or numbers.

b reams divided am-‘ﬂs’« T teochery.
038 = Ll 3
g [ 3] Each teacher aac‘l" q vrean of poger

b. If there were twice as many reams of paper and half as many teachers, how would the amount each
teacher receives change? Explain how you know using pictures, words and/or numbers.

br sx2 = |2 reams 1224 = H48%ouwts 24 = 12 fourttas
% beadners 32 = 4 teachers -z
q

Eadn teacher ad’r 3 reams of porer @

3. Acateref has prepared 16 trays of hot food for an event. The trays are placed in warming boxes for
delivery. Each box can hold 5 trays of food.

a. How many warming boxes are necessary for delivery if the caterer wants to use as few boxes as
possible? Explain how you know.

K
\6 “‘\'qu ir gougs ok 5 (A +n35 ol requive 3% warn. beyes,
" N Whidh means thet 3 borer could be
s = o = 35 Bl € el U Loy "“3\“" Mc'Jus*-L-\‘h-J.

But e coterer will need H Loxes,

b. Ifthe caterer fills a box completely before filling the next box, what fraction of the last box will be
empty?

3';’ bores used

G

§
The lack box wilt \-g?’ eMF{U'

[l SOMMON | s owmeetsisconsovies ny
CORE | ate: 911313 engage 4.8.11

S —

s work s eanted under
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1. Draw a tape diagram to solve. Express your answer as a fraction. Show the multiplication sentence to

check your answer. The first one is done for you.

Check: 3)(%
a 1:3=1 0 3
_A A -3+3+3
A —— 1 :
k_}(_l 3units=1 __31
lunit=1+3 )
b z+3=32- o= 2
2 32— Ched: 3xF
-0 2,2 2
2 =It3
é
? Sunits= 2. =3
"*031':2%3:32' =2
c. 7+5=I-§
T ,———S—'z‘ chedi: 5 A 1E
3 s
—) S—-_-S'7 2 2 2 2
—— =T HISHE+IT+E
7 Sunits=7 = g4l
lunit= T3 $=Z = s
d. 14+52?¢ -
1
—— ,if chek: sx2
L——\_H I e 22¢12f+2£ 124 +2¢
?
Sunrs= 1Y * = [0 +-22
lunik= 14+ S =
Ll
=5

Py
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2.

Fill in the chart. The first one is done for you.

Between what two

Division expression Fraction whole numbers is Standard algorithm
your answer?
1
43
a. 13+3 E 4and 5 3 | 13
3 -12
1
A o4
b. 67 - Oand1 r—L
7 7 6
o
6
s
sg. 10 S7
& = 55
= 5ad 6 lol'sg
-0
m———
s
o 32. 40 o
32
20 0 and 1 o[ 32
o
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3. Gregspent 4 on 5 packs of sport cards.
a. How much did Greg spend on each pack?

sunits = $4 M Sof ¢ = 80L

1 1 | lunt=$B38 =<

T

=4 Greg spertt 80¢ on each Pack.

b. If Greg spent half as much money, and bought twice as many packs of cards, how much did he

spend on each pack? Explain your thinking.
TE

tounits= $2

g’ [TTr11H mni+=2%-/o=‘7%=3"
14

+of ¢1=20¢
He speat 20¢ on eath pack.

4. 5 pounds of birdseed is used to fill 4 identical bird feeders.

a. What fraction of the birdseed will be needed to fill each feeder?

There, are 4 idertical bed Fedars, So & of the bidwed
will be. neaded 4o fill each feeder .

b. How many pounds of birdseed is used to fill each feeder? Draw a tape diagram to show your

thinking. SQB

Yunits= s
wnt=sebit  1Edb of birdseed
3 =_§ is used foFill each

= 1440) feeder.

¢. How many ounces of birdseed are used to fill three birdfeeders?

Ub=16 & Tt = 20 63

-L -
’Hb—?%

3unils= 3x20 =60 G

- 1d
FRXID G of hidseed are wed 4o
=log +4ay  fill heee bicdfeeders.

=20 oé,
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Problem
A totsl of 2 yards of fabricis used to make 5 dentical pllows. How much fabric s used for sachpillow?

s problem requires understanding of the whole and the ivisor. The whole of2isdividsd by 5, which
resultsinaquotient of2ifths. Circulats, looking or diferant visual tape diagram and the region modsls
from GS-ii-Lessons 23] o facltate s discuston st how thase diferart model uppart e alution of

: 2 Oss
frm e

Problem2 P

i ica-craam snop uses 4 pintsofica cream to mske § sundsss. How many pintsof ca cream sre used for
=schzundaar

s probiam aso requires the students'understanding o the wholavarsus the divisor. The whaleisd, and &
sdivided squall into  units with the soluonof 4 sixth. Students snould nothave to use the standard
Slz0rithm 10 5lve, b2cause they n0u!d be comfortabls inarpreting the dvisn axpression s raction snd
vice versa. Circulte, looking or sitrnate modiing strstegies that can be quicky mentionsd or explred
more deeply fdesired. Studants might exprass 4 isths 252 thirds. The tape diagram llustrates that arger
unitsof 2 an'be made. Quickly mode 2t3pe with § parts (ow reprasenting £ pint) shade 4, and circe sets

e
P
. @eo
O Haexn,x
7 s 3
Gt
P
W ESR" ™ [ engage™  ies
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Problem

i ce-craam snop uses  bananas o make & denticalsundaes. How much bananaTs used n esch sundae?
Use 2 tape diagram toshow your work.

s problem has the same two dgits 4 nd 6) 2 the pravious prablem. However, tisimportant for
Students torealize that the gis ke on anew role, Sither 3swhols or divor, nthscontext. Six wholes
Givided by 41 qusl 20 § fourthsor 1 3nd 2 fourths. Athough it i not raquired that tudentsuse the

standerd sgorithm, it canbe easiy mployed tofind the mixed numbervalue of 1.

Stucnts may ss0 be angsged n s discustion sbautthe practcaity ofdviding the remsiing o the 2.
bannss into fourtns and then giing ssch sundss 2 fourths. Many students may clearly 52 thstthebananss
can instead be dvided intohalves and each sundae gven 1 and 1 haf. Facilate a quick dscussion with
Students sbout which form ofthe answer makes mora sensa gven our story contaxt (.. should thesundse
maker divide al the bananasin ourths and then give each sundas  fourts, orshould aach sundas be gven
= whols banns and then divids theramaiing bansnse?.

PR °

[ A e
Problems.
Julisn st resd & siclssfor sehoal. He has mightstoresd o o
e oot e i ha e S ——
ACTION AND
2 Howmany aticlaswill ne ave to ead parright? EXPRESSION:
. Whatfracton ofthe eading assignment will he resd PR
eschight? oty g Fraven

Inthisproblem Julian mustresd §sticlesover thecourse of S e

nights. Tne solution of 4 sighths ofan artice sach ight might i

imply that ulian can simply divida sach aticle o sghthsand
redany & srticlason any o the & ights. Engag inadiscussion i __ (i

that allows students t see tha & sighths must e Inarprated “tunteqes

25 4 consacutive sighthsor L halfof an arcile. Itwould be mast Wordtanic

ractica fordulian to read the irst haf of anartile ons nght facionct  dridedy remsnder

nd the ramaining alfthe followingnight. Inthis manner he
il nish i eadling asignmant in the’ days. Part (o]

17 SQuvon | ==
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provides for deeper thinking Sbout unitsbeing considerad.

Students must diffarentate betweenthe arice-asunit and assgnment a5t o answer. While L hafofan
articl sread sach night, the assignment has baen splt ntosightparts. Take the opporuny o discusswith
Students whether o not the artickes are llequalin length. Sincewe are ot tol, we make 2implfying
assumption n order o olve, finding that s nght 1 ight of the assignment must ba ead. Discusshow.
the answar would chang ifons aricleware twice thelengthof the atherthres.

LIS ot

4 [9X ¥

Buarn = aanaes
e+ 43
B Foe s s (4D
S T s o

[,

Problems

Fortystudantsshared 5 pizzas aqually. How much pzzadid each student raceive? What raction ofthe pzza
i ———

5
= ~GEREpy

w2 R .
Agunits = dccighs
e unk = L ciggin

-k

Zacn shdent oers § Fapinze
P & o
55 isisthe At prablem o the page, students mayrecognzethedivsion exoression very uicly nd
relizetht 5 divided by 40 ields S fortetsof izapersudant, bt n thicontet i iresing o discus
thsudents the practicat fseing he s n fortets. Here,cne migh btter sk, “How can | make
0 cqual prts ut of s Thi e son 43¢t hinkingsbout Mk the/eastnumber of ts
ach pisaeghtns. Now the smplfed snawr of 1 sighnof iz pr tudent makes more sense. T
llon-up QueSin paints o the changing of th it om haw e iz per sudent (L g o iz to
whot acton f te ol 1 oristhafthe ot smount] Because thereare s many lcestobe made,
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Students may use the dor, dot, dot format toshow the smaller unisin thir tape dagram. Others may optto
Smplyshow their wark with an sqution

Problems
u

fan h2d 2 two-litarbottes ofsods, which she distributed squaly between 10glasses.
2 Howmuch sodawas in each glass? Express your nswar a5 3 fraction of ter
b Expressyour answer a » decimal number of ters.

< Expressyour answer as 3 whols number of millters.

2 motts 10 st

e s oo

2o, = 4 e

[ —
T

7

s G o e 0
o o

Thisis 3 thraa-part probiam that ssk tudents o find the smount ofsod n sch lss. Carsfully uide
Students when reading the problemso they can nterpret that 2 two-lter botlesare equal o ltrstotal
The whole of# iersis then divided by 10 glases o get 4 tenths tersof soda per gas. Inorder toanswer.

are o), students reed 10 rmemer how o expressfractons 2 deamas (2, 5 =04, =0.0,

0.001). For Part €], stunts may need to b raminded sbout the equialzncy betwasn ferssnd milers
(1L=1,000mt).

510 paddle slong the Susqushanna iver.
2 They paddled the same distance aach day ver thecours of 3 days,travling atota of 14 miles.

How many miles did they travel sach day? Show your thinking n  taps diagram.

o ey
RO
[T ar o
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. Fthe Calafswent alftheir daily distance sach day, but extends theirtrp to twice asmany days,
how for would they traver

D s e o s e s D mase.

L Fowa s20 bomt Laiiend
4 = bu2¥
2828282802428

S®

ey

e W o)

I Part s, students can sasly use the standard slgorithm to solve 14 miles divided by 3 daysisequalto  and
2tird milespar day. Part o) requires som deloarste thinking. Guide the students o r2ad ths question
carefully bafore solving e
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1. Find the value of each of the following.

a AlAA e JAYAWAVAVAY
AAA AAAA
AIAIA ADLAAA
Jofes tot1s=5
tofg- for1s=10
Zofo= Zof1s- )5

E ‘ A’AA AN ATD A

JAWAN VAWAN VAW FAWAN VAWAN
Lorao- I
tor20-
[AATA DTN ATA AL ATA ATANA A
o A A A|ATATD LA A
of=3 £or24-=]8
gumJi Zof2a=2|

tora= 12
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. How does knowing % of 24 help you find three-eighths of 24? Draw a picture to explain your

thinking. O O o o
5888k1588
O OO0

TGFZIF 1

Once X Know  of 24 i equd 103, thea fo-find % is 3
qoups of 7. 3x3=9.

. There are 32 children in a class. s 2 ofthe class bring their own junch. How many students bring their

lunch? X X X x X 7<

x| %
RN
KK R K KB

= -
§%632212 17 dhiderts bought hunch o oo .

. Jack collected 18 ten-doltar bills while selling tickets for a show. He gave 1/6 of the bills to the
theater and kept the rest. How much money did he keep?

olololol o <
81218181519 @ CEI=
e 1S fendol lac bills.

Zof 823 18-3=1SYendsllag
He Kept isfen-dollar bills, which is #/50.
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name ey ¥ - — Date _ —

L Solve using a tape diagram.

a lofig g

B qw\:"\'i=:" SN g yaitse 2
Lunit @ﬁ \ wait
SRRt

P ppitseas 7 we  quaitst 190

o i s rom it
% Yunifs= 20

oo n ez
b q =9 H 2 5 unitss 12
Jid sy uvn"’— 1255+

=25
2uates HE

.AK%E
-—c
s
\, —\r
S

i. 2 of a number is 10. What's the number? J. $of a number is 24. What's the number?
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2. Solve using tape diagrams.
. There are 48 students going on a field trp. One fourth are girs. How many boys are going on the
wip?
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1. Laura and Sean find the product of x 4 using different methods.
Laura: 1t's 2 thirds of 4. Sean: It's 4 groups of 2 thirds.
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The hampster is Binches long.
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Me. Pasdl oought 4 02 of cashews.

b, How many ounces of walnuts did Mr. Paul buy?
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1. Write expressions to match the diagrams. Then evaluate
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Lesson 10 Problem Set. [F1%

5. Collette bought milk for herself each month and recorded the amount in the table below. For (a}(c) write
an expression that records the calculation described. Then solve to find the missing data In the table.

a. She bought } of July's totalin June.

. Month ‘Amount (in gallons)
LX) Ty
4XL K R :
Febramry "
Vi T
ko
b Shoug s i eptr ety | 0 =
and uly combined. Var T3
il
_——:’- x (3r2)= Tn oy
4
i . s =
Gx5 5 =3% iy 2
ey "
< iAo e bought gl s than e ssmuch 55 [ =
she bought in August. 35
Getaber T
L T
(axV)-= = :

2-%=1%

d. Display the data from the table in a lne plot.

. X

XA ¥ XX XX * <
3+
e} ' 2 3 Y

. How many gallons of milk did Collette buy from January to October?
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1. Kim and Courtneyshrea 16-ounc box ofcerel, By the e fth week,Ki s esten of hebox,
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. ack, i, nd Bl ach caried 48 cunce bucke full ofwater down the hil. B the time theyresched the
bottm,Jack's bucketwas oy ul, ' was 2 uland Bi' was ul. How much wter i heyspl

ihwﬂheron(hmrw:vdown the hi? 12 +1b + 40 = 6802
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4. Mrs. Diaz makes § dozen cookles for her class. One-ninth of her 27 students are absent the day she
brings the cookies. f she shares the cookies equally among the students who are present, how many

i et
xgj— q -3 2 shdeds awe absedh
27-3=2 Shadends Eoch S+,,w\ud.’
5 doaem x 12 = 6O coo Kies 3&5 2% cookies.
. [l 5 A
O TM = Zo=Z= 2=
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5 2‘43.
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5. Uilanand Darene plan o get their homeworkfinished withinane hur. Darene completes hr math
homeworkin hour. il completeshermathhomewrk with  hour remaning. Wh completes ther
homework fake,and by how many minutes?

Bonus: How much faster as  fraction of an hour?

12
Darlona. 2 % GOwmin= TEEX = 36 mincdes

@O f
Lillian & x 6Omin= o = Lo minutes

X
B s (ded HRe Momewoer]
36-10=ab Lil ‘x‘.:ﬁi tew oo Darlese.

%%‘ =,_~‘:;50 of an hous

4. Create and solve  story problem about a baker and some flour whose solution is given by the expression
1x@+5).

A baker used o comdbinadion of
whele wlea omd white LQlour
Jo bake brad: She Fhen divided
Ao Hlour nto 9 ba—zo\'\tﬁh:+
s ot WhTe
-\Q-\Coi\kax\i:d.‘: 3@\;:?6@ whole wheat
_eQow, how wwch Fowr L used

Sor cach loaf 7

117 SQYMON | emmns

engage™ oz




image38.png
TS COMMON CORE MATHEMATICS CURRICULIM Lesson 12 Problem Set

5. Create and solve a story problem about a baker and 36 klograms of an ingredient tht is modeled by the.
following tape diagram. Include at least one fraction in your story.

36

———— A baker wsed 36
I Falograms of Flour

Q:I %\.A over “hree da.nAo-

1 On one of Hase. olags
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6. Gfthesudents I wrSmits 5 grade css  were sbsent on Monday. Of the students n . Jacobs

she wae
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mo 6D M G

Smiths 5 Jacobs

Class . Class H .
\uniTE 2units=
unie” \unir= 2
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2. %of the songs on Harrison’s iPod are hip-hop. iof the remaining songs are rhythm and blues. What

fraction of all the songs are rhythm and blues? Use a tape diagram to solve.

i \ \ \ } 2. o?a\\'H»\e Scn(ﬁs ae rhy'H\m

Y)‘xﬂ\,,\ c\na blues.
Blies
5o 3eigrths = 1 eighth
3. Three-fifths of the students in a room are girfs. One-third of the girls have blond hair. One-half of the

boys have brown hair.
a. What fraction of ali the students are girls with blond hair?

hip-hop

[Hend brown —é— of allhe shudents ave grls
3% V with bloed Y.

% of 3Rfths = 1

b.  What fraction of all the students are boys withebrown hair?

+ of dllthe shiderts are boys without beown hair.
L of 2fhs = 1FFh

4. Cody and Sam mowed the yard on Saturday. Dad told Cody to mow%ofthe yard. He told Sam to mow%
of the remainder of the yard. Dad paid each of the boys an equal amount. Sam said, “Dad, that’s not fair!
i had to mow one-third and Cody only mowed one-fourth!” Explain to Sam the errorin his thinking.
Draw a picture to support your reasoning.

7] of Bfurths = Hourth

Coéy Sam
Afler Cody mowed 3 of the yard, & is left. Sam muwed 4 of 3foucths
is eqm\—b 1 foudh. So they mued an equal size of the yancl
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2. Multiply. The first few are started for you.

a s5x07=3.5 b. 05%07=0.35 ¢ 0.05%07=0.03%
=sx Ll =Sl -
10 10 10
_sx7 _ sx7 _
RET) “lox10 “100x10
i - 35 - 35
T 22
loo \eoo
=35
20.35 = ©0.038
d. 6x03=_L8% €. 06x03= 018 f 0.06x03=0.018
ztx 2 =k 3 ..
to lo [} “ 106 o
5kn3d = b3 z 6r3 2 A8
19 1o a0 N = tpoo
=18 - 18
TS = oo
g 12xa=_4%.% h.12x04=048 i.012x04=_0.048
- 2 212 u =
B wl TToXw ® Teo ¥ T
ot ue - 1zxd :HB =11x4 _ 4de
10 7 e toxto 100 1eo x\v 1,000

3. Aboy scout has a length of rope measuring 0.7 meter. He uses 2 tenths of the rope to tie a knot at one
end. How many meters of rope are in the knot?

2 teetts oF 0.1

14
2,07 oo mof rope are inHe kuod,
T
= B F g W
T W tes

4. After just 4 tenths of a 2.5 mile race was completed, Lenox took the lead and remained there until the
end of the race.
a. How many miles did Lenox lead the race?

4 berts oF 2.5 mai 25-1z 1S
u 25 o . Lenox ‘ed Foc 1€ mileg
276 *Te = o= bel
b. Reid, the 2™ place-finisher, developed a cramp with thref‘lenths of the race remaining. How many
: : s 0
ml|385dld Rex:!;\inv;l;o:‘t:acramp. IZ-”"“" Recd wan L85,
B, 5% _ FHE & 9 15w withouk & crawmp.
= g Ty = ———‘u = 0.5 -, |,75,,‘;.
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1. Estimate the length of your pencil to the nearest inch. ‘9 n.

" " ” 1, " oy
2. Using a ruler, measure your pencil strip to the nearest 2 inch and mark the measurement with an “X

above the ruler below. Construct a line plot of your classmates’ pencil measurements.

L] x XXX
—x X X XRK

o —ly¥y
—xxy

%
[‘l R B T e i G|

3. Using a ruler, measure your pencil strip to the nearest ;mch and mark the measurement with an “X

o —X¥X
x
~—xx

above the ruler below. Construct a line plot of your classmates’ pencil measurements.

®
% x %
* X A x ® *® ®
3 KR KKK R RK R X *
|'r—1|’1|l|l| |1I|Ill g ) llll

4. Using a ruler, measure your pencil strip to the nearest % inch and mark the measurement with an “X"

above the ruler below. Construct a line plot of your classmates’ pencil measurements.

Xy S %% xx
1 N i Wl i |

7. COMMON | tesson1: Exploration-Measure and compare pencil lengths to the nearest %, %, n
| CORE | % of an inch and analyze the data through line plots. engage y 4.A9
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1. Multiply. The first one has been done for you.
a. 23x18=11x1 2 3 ftenths) b. 23x09= 2 3 (tenths)
23
_23%18 X 1 8({tenths) =—]_0' X 10 X_FQ.(teth)_
W Tes aaxa 207 Chindedthe)
=;{‘3‘3‘ 49 4 (hundredths) 160
- 201
=414 T
=2.07
c 66x28= 66 (-}etrH\s) d. 33x14=
=66 28 X g8 Cethd =38, M 33 (fentho)
10 X0 52 g E 70 o % Vi (__‘,eﬂ_\;“
— 33xki14
2%’?—2 +1320 3 =~ Too +3'§Z
= 42 o}
= It T84 (hundredths) =42 1259
g 100 F 82 Chundredthe)
=18.4¢ =h62

2. Multiply. The first one has been done for you.

a 238x18=22x 238 fundredths) b 2.37x ;.9 = 237 (huncrecthe)
Z
St 1Xﬁ(temhs’ =7jop ¥ To 9_(tenths)
+2
w284 4 23 88 f(thousandths) =% Zl 3 3 Cﬁ\oM‘H“)
~ o _ 2133
~ 71000
=4284
=233 3
¢ 606x28= d. 33x0.14= 332 (denths
06 (hund
cow Al T T e Gwedebh
TR _L_,f&_ 5 X100 ol
_ 6o6X28 4448 = 3304 132
= To00 +12720 4?2"" +330
=16 T169 68 thousadth) = oo 62 Uhhousandthe)
= 16.968 =0.462
I E, ES%MON :5:"13: zgl/altge/«;;cimalandframunmumphcamn eng_ageny iE_]ﬁ
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1. Multiply. The first one has been done for you.
a. 23x18=11x1 2 3 ftenths) b. 23x09= 2 3 (tenths)
23
_23%18 X 1 8({tenths) =—]_0' X 10 X_FQ.(teth)_
W Tes aaxa 207 Chindedthe)
=;{‘3‘3‘ 49 4 (hundredths) 160
- 201
=414 T
=2.07
c 66x28= 66 (-}etrH\s) d. 33x14=
=66 28 X g8 Cethd =38, M 33 (fentho)
10 X0 52 g E 70 o % Vi (__‘,eﬂ_\;“
— 33xki14
2%’?—2 +1320 3 =~ Too +3'§Z
= 42 o}
= It T84 (hundredths) =42 1259
g 100 F 82 Chundredthe)
=18.4¢ =h62

2. Multiply. The first one has been done for you.

a 238x18=22x 238 fundredths) b 2.37x ;.9 = 237 (huncrecthe)
Z
St 1Xﬁ(temhs’ =7jop ¥ To 9_(tenths)
+2
w284 4 23 88 f(thousandths) =% Zl 3 3 Cﬁ\oM‘H“)
~ o _ 2133
~ 71000
=4284
=233 3
¢ 606x28= d. 33x0.14= 332 (denths
06 (hund
cow Al T T e Gwedebh
TR _L_,f&_ 5 X100 ol
_ 6o6X28 4448 = 3304 132
= To00 +12720 4?2"" +330
=16 T169 68 thousadth) = oo 62 Uhhousandthe)
= 16.968 =0.462
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3. Solve using the standard algorithm. Use the thought bubble to show your thinking ébout the units of
your product.

a 32x06-_ 192 b 32x12-__3.8%
3 2 tenths 32 (Jen%)
X_6tenth
192 hel:‘nd:edths X‘ﬁ (%-H\Q
+320
384 (hw\éf?éﬂ\i)
¢ 831x24-_ 19944 4 750x35= 26,25
83 | Chondeabths) 750 ( hundmdths)
D K 2L (eerths) % _ 35 (Heth®)
3324 3750
+166 20 +22'5 00
WEL 139 Y4 (thottend 2.6 25 0 (housend¥ho)
4. Carolyn buys 1.2 Ibs. of chicken breast. If each pound of chicken costs $3.70, how much wjll she pay for
the chicken? L unit= *370 370 Ch
|,2_un;+5= 1,2X3.70 K 12 (‘k“‘H“)
huy EY
She will pay $4. LU & +he chicken . T‘{-lTPTdkm W)
5 i e ven or e ke 275 hundredth)
A= Lxw X 42 Ceeths)
=4.2%3.7S —='Ze
= 1878 " fgoo
Thearea 35 1575 m ~15 75 0 Chhouserdbhe)
b. The area of the living room is one and half times that of the kitchen. Find the total area of the living
room and the kitchen. IS78 C,'\Mém&\()

ISX ISTS =23.625m* x  j5 (deiths)
IS5 +23,625=39.31Sm" , 7875

ti5750
The futal area s 39.375m? Z 3 £ 25 (housendthe)
3 M sson 18: elate decimal and fraction multiplication.
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1. Convert. Express your answer as @ mixed number if possible. The first one is done for you.

z R
a 2ft=__ 3 _yd b 4ft=_1T yd
2ft=2x1ft
4ft=4x1ft
A
:zxiyd =4x B yd
~Zvd = S
= I+ yd
¢ 7in= 112 f o 13- 15 &
=Tx lin =13% lin
\
=Txigft L zizxazt

:%_H. = :—E-.H

e. S5o0z= Z;Z b f. 18o0z= ,E' b
=5% lez =18 % loz
:57&'1"5“.) =|gx-1‘3'02
-7 -

J
=]—}'g:/‘§'02

2. Regina buys 24 inches of trim for a craft project. 2Uinz __yd
a.  What fraction of a yard does Regina buy? 220K §'6‘ Ya\
?egmq\xuﬁh'} 5 vd. =2fy
=374

b. Ifa whole yard of trim costs $6, how much did Regina pay?

For b
=2 k" R
$2 BT Regia pad $h,

! =
l ggg‘gﬂor\ Lesson 15t g?:;}:rrznzezsures invoiving whole numbers, and solve multi-step word engage ny
Date: 10/11/13

(e T, e vk teeed urdera
1809 EASERE ¢ 1 ive Compens Anribuion NonCommereis - Share Hlise 20 Unpories Liense

€ 2033 Comman Core, inc. Soe rights sesamves. Eommonears o

4.E7





image63.png
NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 19 Problem Set &

€. At Yo-Yo Yogurt, the scale says that Sara has 8 oz of vanilla yogurt in her cup. Herfather's yogurt
weighs 11 oz. How many pounds of frozen yogurt did they buy altogether? Express your answer as a

mixed number.
Sara [ Fa )
Fober :E:j} !

g+li=de2 H“:——!l’ T)\ey Bo\gH' i pounds
=19% b fzen Yoqurt altomether.

=4
= &b

d. Pheng-Xu drinks 1 cup of milk every day for funch. How many gailons of milk does he drink in 2

weeks? i WECK= —, éay’(
2 weeke =2.x 7= Y days

| doy = | Cup
14 doys = 4 Cups

Maups= ___ gallwns

= 4% lcup
::l)-}-)(’ljgja\

=T gal

= ?jal
He drark -:g{' gallen of milk in 2 weeks.

g gg%MON Lesson 19 g?s;é;:eamres involving whole numbers, and solve multi-step word engage ny 4.E8
Date: 20/13/13
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1. Convert. Show your work. Express your answer as a mixed number. (Draw a tape diagram if it helps
you.) The first one is done for you.

a 25vd = 8_feet b. 1§q:=§g gal
22yd =22 x 1yd 1lat=15 x1qt
=22x3n =12 xgal
= 2x3nt =2x el
il = 3
=St 2 3:.\
=8t
c 43ft=_Sb in d 9§pt='*’/j qt
2 i
Yzt Y3« & “Jipl':qzﬁl‘p*'
= 4% x\2in. =i =gt
L Y
=M, 1in zrzT s
2 - \a
= 14 oy
2168 Bbin ‘1;“
3 =Yg 4t
e. 3Zhs.= 216 min. 00 " 3§f::§’i_ﬁ yd
3 2
3%\,\,:3’;‘1\\«\" sTogo 3%“*:3’5“\"@"
-0 —
:37~;L0win “?Q_ =35~ T4
= S il
218,40 mia 30 = 's""fd
- Y
21080 2ibwin ?‘1‘{
2
? =15y

I COMMON | tesson20:  Convert mixed unit measurements and scive multi-step word
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2. Three dump trucks are carrying topsoil to a construction site. Truck A carries 3,545 Ib, Truck B carries
1,758 b, and Truck C carries 3,697 Ib. How many tons of topsoil are the 3 trucks carrying altogether?

35us5 1b qQooolk = ___ Hons
1,159 b Q000 L = 9,000 = Uk
%L:;l—lb = 9,000 y.?-l:.. o
9,000 e
= daeee, “on
The 3 Hucks ane 2,000
C‘*\’"‘J‘v\j "{l?TJcbns oH'vjct‘l«or. =y 1 Ln

. 3 . g
3. Melissa buys 3;gallons of iced tea. Denita buys 7 quarts more than Melissa. How much tea do they buy
all together? Express your answer in quarts.

q Sol. ‘g*s |§c6+ ? Melresa
33 4a1=3% < Lgal 1§%+g
bl 3 i Tk Denthn
=35 x Uq's .
= 1= * ’4[%(" e g°+ :
WA Melrssa & Dend= bu
= 15 ¢h J

37 gt of -Fea .
4. Marvin buys a hose that is 273 feet long. He already owns a hose at home that i is3 the length of the new
hcse How many lotal yards of hose does Marvin have now?

/_ \{Q_-‘:'(“:
* 2T 2% Sl bt Lic,;w —‘-i-L_"‘—ij{-
2T % v 1T 5 T home Nl
; YLy x T wd

1

- 222 \ = \BS‘ d
‘2z = \% z Marvin Vras \g%_ vd Tz Y
° J\: Whose., = Tz \[t{
“ COMMON \ Lesson 20: Convert mixed unit measurements and solve multi-step word
R e engage™ e
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5. Use all three of your line plots to answer the following:
a. Compare the three plots and write one sentence that describes how the plots are alike and one
sentence that describes how they are different

A3 line ploke are similar became ey all show Hd Hhe
Ma:yac'.h:) of e Pwd\ lengths  were behoeen 4 €S 7 inchas .
The 3 \ine ?\.ok looks d fromn T olten because ;
Prewets "5“”“‘_‘) “\j Upencil per measummert | except fv Y% ¢ 0.

b. What is the difference between the measurements of the longest and shortest pencils on each of the

three line plots? 1

line t\ﬂ 1 7:-\-2"2-}\ = {HzZn.
lne gt 20 Tiw = 2% in = 4¥ in

line plot 3: Tin - 2'% n = L{%m.

c.  Write a sentence describing how you could create a more precise ruler to measure your pencil strip.

NL“' e st Pmdgc ruler wewve used to far had us

\
measure to the nearest T inch. We could didde

L . \
each T vk 2 2%\,‘-\ partt ¢ measure t tne  peacest IC inch.

I " COMMON | tesson1: Exploration-Measure and compare penci lengths to the nearest %, %, ny
CORE % of an inch and analyze the data through line plcts. engage 4.A.10
Date: 91313 =
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Name j-l) &Cif\ Date

1. Fillin the blanks. The first one has been done for you.

1 1.3_3 3 3.7 n 7 7.9 _ 38
a. TX1=IxX>== 2x1=3xz:=2 L Ix1=IxZ=2
4 473 12 b.‘xl ‘x_’ 28 &G 1 475 20

d. Use words to compare the size of the product to the size of the first factor.
Bach Hime, tae Rt Focker s \ae'\q mulbiplied oy
a Frachon equal 4o 1,50 +ue yna(uc is ebu..l 4o the

&GJC 'ic‘{'vr .

2. Express each fraction asan equivalent decimal. =
3 25
%xg.—.}i b zxi= 1=
oo oo
z 0.26 = 0.1S
1,2 % 1,2, %
“5¥27 To “5%27 e
=% = 03
1.5 _ g g 2% 5—_ 135~
e wXE =2 6XE T on
= 0.0 = [.35
1 26 115 h B = e
g % ===z
¥ 2s "l;('; 5T 2 -]
| = LS = 1S
x4 9 1 2xk - 186
FEYY 2 oo »*% " oo
=046k = .86
s 4 24 oY b2
ko 2geg s Lis L3%*Z = Ji0o

u
(XY
[
s
"
(X
[
N

m 21 Expla the site of the product and relate fractions and decimal n
“T‘ COMMON | tesson ain the size of the pr engage y asn

. CORE equivalence to muftiplying a fraction by 1.
i oat /613
o o e dr o
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C 2
IV R n.2 o342
2zs"q = et L35%7 '3""’

"

W
w
-
)

2.24

3. Jack said that if you take a number and multiply it by a fraction, the product will always be smaller than
what you started with. Is he correct? Why or why not? Explain your answer and give at least 2 examples
to support your thinking.

TJod 15 vignt Some of +he 2 . 2 2.
'l";.m(‘\gu‘\- net aluajr, 3,5'2;‘:"5‘»3 Bx%':‘—::':B

Tf you mulHely \,3 \_/
o Sachiom equal o 1 (Lie 3) Shmenb Pon.ry 1
the product s = o whet \gou shacked with.

4. There is an infinite number of ways to represent one on the number line. In the space below, write at
least 4 expressions multiplying by one. Represent “one” differently in each expression.

V.2 le _ 50
Xx':T:8 gx‘o——l—g:é

7. 24 loo  Io,c00
2 =7 -_—f-\l l()O’((oo=~—J‘“m = loo

5. Maria multiplied by one to rename % as hundredths. She made factor pairs equal to ten. Use her method
to change one eighth to an equivalent decimal.

vy lo Ly SXS_ __sxs 35 _
Marias way: 3= 52X 0= oo aws w0 - 028

ao

1, 5%5x5 __Sx5x5 125
B 2x¥2x2 Sx5 x5 (26)x9)x(2x8) T |ooo

Paulo renamed ;‘; as a decimal, too. He knows the decimal equal to % and he knows that % is half as

= o.125

much as ;'- Can you use his ideas to show another way to find the decimal equal to %?

]
o =0.25 =D.250 = 250thousandths

1 .
_é’fs halfot 4 ¢ helf ot 250 Housandthss ¢ (25 Mrousandtlas

COMMON | tesson21: Explain the size of the product and relate fractions and decimal ny
CORE | equivalence to multiplying a fraction by 1. engage 4510
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Solve for the unknown. Rewrite each phrase as a multiplication sentence. Circle the scaling factor and
put a box around the number of meters.

1
a. jas long as 8 meters = Ll meters b. 8 times as long as % meter = "( meters

G-+

Draw a tape diagram to model each situation in Problem 1, and describe what happened to the number

of meters when it was multiplied by the scaling factor. A
ES

L G
e The Sc-\'-nJ Lactor is qreater
‘on 1,7=-Hu_d§=o!?— meters

The goal{n fackr 15 less than
4,50 the ‘#jo»F meters decreased. "
. increased.

Fillin the blank with a numerator or denominator to make the number sentence true.

a.7x%<7 b. X 15>15 cAaxg=3

2

Look at the inequalities in each box. Choose a single fraction to write in all three blanks that would make

all three number sentences true. Explain how you know.
a. ’ £ E/L> % 2x Z—> 2 ‘
Mu\-\-ip\\finj \?\f a frachion grealer Ban 4 will
make the ?,.,J“d- [arge,r than the other Lfactor.

2>

PN
wia

n

b,| %xl/_2<% 2x [ <2 -:-xl/_1<£
Mu\k?lui'mj by a Leachion less Hram L will panke
+the product less  than the othen frcter.
SSRAEMON ::::nn; 5:27::xhemeullhppmcucnclhe&r:eelthh:lms. engageny k26

e wor i e ndr s
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5. Johnny sas muliplcaton abways makes numbers bigger. Exlan o Johnny why tis st e
Give more than one exampl to help him understand,

MulbiphicatHon does not aluous make mumbers bigger
M"\H?\D'“S o fumber (lke?) by o Frochion less toan 4
Wil resultin & prduct less Hmn 2. Wekh...

2x% % 2x%F=%
<1 e

6. Acompanyuses asketchto plan n advertsement on th s o  buiding. The lettering on the sketch s

s e ot g, o s

B 2y L bler e F i,

M- ”T“ The lethers wil

be 25% in all.

= loz

1
= 25% 2263

2. Jason s érawing the floar planof his bedroom, e s drawing every
the actalsiz. Hi bed measures 6t by 3, 3nd the room measores 16 ummn Whatare the

i dimensions tht e o

imensions of s bed and oam s rowing? i
P YT 3 oom
ettt — ok etz B g\‘;_‘ leL“
T Soot stz pr 1T H
i sz Leteer = e = EH gl

i

o o 6+

Toos ) Ea |,3 T
L
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1. Fillin the blank using one of the following scaling factors to make each number sentence true.

[ 1.021 0.989 1.00 |

a. 34x 1,00 -34 b. 1021 0215021 c. 804x0.989 <504

a. Sort the following expressions by rewriting them in the table.

The product is less than the The product is greater than the
boxed number boxed number
0.2*x0.009 13.89 x [.00Y4
6oz x 0.4%9 0.72 X [.aY
0.2 % 0.l [02.03 X %015

X 1.004 X 0.489 X 4.015
X 0.069 x 1.24 >< 01

b. Explain your sorting by writing a sentence that tells what the expressions in each column of the table
have in common.
In the First column, the Loxed number is mulkplied
\o\éx a swding factor |ess +han :I_) So Hhe prducts
Wil be fess Hhon tie boxed number:
In the Setend Colvmn, fhe boxed numler i
pultiplied by a staling factor greater than 4.

ll% COMMON Lesson 23: Day 2 Compare the size of the product to the size of the factors.

CORE engage™
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3. Write 3 ststement using 0n& of the following phrases o compre the vale of th expressions.

a

Then explain how you know

s stighty more than

s SMMI less than
s shgily neore fhan

is a lot fess fan

isatot more than

5. axosse

b 105x08
© 1msxoon

o osaoo1x1003 _is_a (ot mere dhan

e omzxoon _iS sligily et than

sslightyles than

Isalotless than

4 becauw 0.98¢ 4 sligldly
(rAebiae

08 Locanse 105 6 a dile
o e e

125 peeause 0.013 is a tof

eS¢ {an 0 e

1003 beeause 429,001 4
alot More tuan one

0002 becawse CANl is a
ittle toss than oac

Duringscence ciass, Tea, Carson, and Dhakir measure the fengeh of their bean sprouts. Carson's sprout s
09 times the length of Teo's, and Dhakir' is 108 imes the length of Teo's. Whose bean sprout s the

longest? The shortest? Explain your reazoning.

Carson =228
e =,
Dhokie [T}

* xb> owillalways be troe when bis

204 X = 2368

+ oxbeowillatuays be e when bis

3.4 x

COMMON

CORE ane

85 = 2,649

Dhakics bean speorct 15 1he loagest
becaus i siighily moretdn
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